2.4 HoOMEWORK HANDOUT : EXPONENT LAWS, PART 2

PART A

1) State the value that should be placed in each box.
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2) State the value that should be placed in each box.
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3) Use at least one exponent rule to find an equivalent/simplified expression.
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4) Use at least one exponent rule to find an equivalent/simplified expression and then evaluate

for x=-1and y=2.
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5) Simplify.
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6) Simplify.
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7) Simplify.
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PART B

8) a) Express 4% as a power with a base of 2.

b) Express 25* as a power with a base of 5.

c) Express 277 as a power with a base of 3.
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9) Simplify
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10) a) Without actually calculating the value of either power, show that 16° is equal to 4°.

b) Without actually calculating the value of either power, show that 5 is equal to 125* .

11) Kendra needs to quickly determine whether 3* is greater than or less than 4%, but she does

not have access to a calculator. How can she use her knowledge that 3 =81 and 4° =64 to
solve her problem. Which power has the greater value?
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11) 3% can be expressed as (3') . 4% can be expressed as (4°) . Since Kendra knows that

3* > 4% she can conclude that (34 )10 > (43)10. Therefore, 3% is greater than 4%




